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Part 1 Reading Comprehension (30% 15x2=30) 
I Directions: There are 3 passages in this part. Each passage is followed by some 

questions or unfinished statements. For each of them there are four choices marked A, 
B, C and D. You should decide on the best choice and mark the corresponding letter on 
the Answer Sheet. 

Passage 1 
Questions 1-5 are based on the following passage. 

There is no doubt that adults, and even highly educated adults, vary greatly in the 
speed and efficiency of their reading. Some proceed very slowly throughout; others 
dash along too quickly and then have to regress. Poor readers in particular may lack 
the ability to vary their manner of reading according to the type of reading matter and 
to their intentions in reading it. A good reader can move at great speed through the text 
of a novel or similar light reading matter. He may be able to skim a page, picking up a 
word or two here and there, and gain a general idea of what the text is about without 
really reading it. In reading more difficult material, with the intention of taking in the 
whole of it, he will proceed more slowly, but even then he will vary his pace, 
concentrating on the key words and passages, perhaps rereading them several times 
and pass more quickly over the remainder. A less efficient reader tends to maintain the 
same speed whatever the material he reads. Consequently even light reading matter 
gives him little pleasure because he reads so slowly. But this pace may be too fast for I 

really difficult material which requires special concentration at difficult points. I 
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! A type of reading which necessitates careful attention to detail is proofreading, in I 
which the reader, in order to detect misprint in a sample print, has to notice not so 

much the meaning of what he reads as the exact shape and order of letters and words in I 
the text. This is extremely difficult for most people, since they are accustomed to r 

overlook such details. In fact, considerable practice is required to practise this task 

I efficiently and it can be done only by reading very slowly, and by paying 
comparatively little attention to the general meaning of the text. 

1. The author claims that there is a difference in reading speed ill 
A. between the poorly educated and the highly educated 

B. among all readers 
C. among different poorly educated adults only 
D. among different highly educated adults only 

2. A good reader is a reader who @ 
A. concentrates on the key words only 

B. changes his speed according to the kind of text 
C. always reads slowly but carefully 

D. changes his speed according to his liking for the book 

3. The last two sentences of the first paragraph mean that _~~. 
A. a reading speed too fast for difficult material is just right for a non-serious book 
B. a reading speed too slow for a non-serious book is also too slow for a difficult one 
C. a reading speed too slow for a non-serious book may be too fast for a difficult one 
D. a reading speed too slow for a difficult book is just right for a non-serious one 

4. The main thing in proofreading is to @ . 
A. pick out mistakes 

B. enjoy it 

C. understand it 
D. overlook the meaning 

5. Proofreading is of no use unless one is prepared to d2 
A. read very quickly 
B. pay attention to the meaning of the text 
C. read very slowly 
D. make changes here and there 

Passage 2 
I Questions 6-10 are based on the following passage. 

Over 60 million persons in the United States own a credit card, which has had the 

effect of increasing consumption possibilities for households by allowing them to 
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heavy purchases without giving up a single dollar In fact, 
thousands of dollars of merchandise, ranging from autos, clothing, to electrical 
appliances are purchased by buyers through the credit card. Credit cards have also 
been of significant importance to the national economy. Businessmen have been 
encouraged to expand plant and equipment and hire additional personnel to meet the 
heavy demand for their products. The tendency of employment and income would be 
to rise significantly. 

Unfortunately, the ease with which buyers can increase their purchase with credit 
cards has caused them to overlook the additional costs. Purchases on credit cards are 
postponed payments. Buy-now-and-pay-later encourages buyers to use credit cards 
extensively. Since the buyer is in effect borrowing money for a specific purpose, he 
must expect to pay an interest charge. Interest is the price of using money over a long 
period of time. A close analysis of the use of credit cards for heavy purchases will 
show that the buyer has added to the cost of making these purchases. It must also be 
kept in mind that unpaid monthly balance means added interest charges. Furthermore, 
the use of credit cards will add to the cost of the product since the shopkeeper does not 
receive the money at the time of purchase. Shopkeeper might add on the cost of 
handing credits to the bill. 
6. This passage is mainly concerned with _£2__~. 

A. the cashless economy 
B. the cost of making payments by credit cards 
C. the advantages of credit cards 
D. the necessity of using credit cards 

7. According to the passage, which of the following is NOT true about the use of credit 
cards? (j) 

A. It affects the level of employment and income. 
B. It is significant to the national economy. 
C. It stimulates people to buy more. 
D. It makes purchasing more complicated. 

8. When a buyer makes a purchase by credit cards, the problem encountered by him 
is tID_. 

A. the changing tendency of interest rates 
B. the rise of the price ofproducts 
C. the rise in insurance rates when credit cards are lost 
D. the added cost of a product 

9. Interest charges for the use of credit cards reflect _~_. 
A. the advantage of owning a credit card 
B. the unpaid balance of a monthly bill 
C. the shopkeeper's cost of handling credit cards 
D. the price of using money for a long period of time 
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10. The author of the passage implies that _£. 
A. eredit cards tend to raise interest charges 
B. buyers should not use credit cards at all 
C. buyers should make purchases with credit cards cautiously 
D. the use of credit cards reduces the consumption possibilities 

Passage 3 
Questions 11-15 are based on the following passage. 

Living things can regulate their own activities in such a way that they fit into the 
rhythms in nature. For example, plants consume sunshine during the day and do most 
of their breathing at night. Small animals which live in very hot regions remain deep in 
their holes during the heat of the day and only come out at night to obtain food. These 
rhythmic patterns of activity in living things can be called biological clocks. 

Scientists have discovered some very interesting facts about biological clocks. 
Their most important discovery is that although biological clocks approximately 
correspond to the rhythms of day and night, light and darkness, they do not always 
depend on them. Many biological clocks are independent. How can this be proved? It 
can be proved by showing that a biological clock will continue to operate even when 
its surroundings are changed so that it can no longer respond to alternating periods of 
lights and darkness. 

We will take the "Fiddler crab" am'i\lJ:\i) as an example. This animal is a living 

clock. It indicates the time by the color of its skin, which is dark during the day and 
lighter in color during the night. The daytime darkness of the crab's skin, which 
prevents its enemies from noticing it and also prevents the crab from getting too hot, is 
repeated every 24 hours. The alternating colors of the skin appear to follow the 
alternating rhythm of day and night. How can we prove the statement that crab is an 
independent clock which creates its own rhythm, its own time? Perhaps it only 
responds to sunlight, by growing darker when in contact with sunshine and growing 
lighter in color when the sun sinks behind the horizon. 

To answer this question, biologists did a simple experiment. They kept the crab in 
a dark room at a constant temperature for two months. They found that the skin of the 
crab continued to change color according to the same 24-hour rhythm, following the 
movements of the sun outside. In this way they proved that the crab's biological clock 
was independent of events in its natural surroundings. It 
responses to external events. 

was not just a series of 

11. Biological clocks in living things are 
A. manufactured clocks 
B. the alterations of day and night 

@ 

) 



living thing's activities corresponding to some natural rhythms 

D. the repetition of activities of living things 

12. The author compares a crab to _.{[jL~. 
A. a biological clock 

B. an example of biological clock 

C. a living clock 

D. a model of biological clocks 

13. It is true that many biological clocks are @ 
A. bad timekeepers 

B. dependent on other things 
C. good timekeepers 

D. not governed by external events 

14. A crab is an example of biological clocks in living things because it _ @_. 
A. looks like clocks 

B. has dark skin 

C. creates its own time 

D. alternates color of its skin to follow the alternating rhy1hm of day and night 

15. The colors of the crab's skin can @ 
A. indicate the time 

B. prevent its enemies from noticing it 

C. prevent it from getting too hot 

D. do all the above 

Part 2 Vocabulary and Structure (20% 20xl=20) 

Directions: There are 20 incomplete sentences in this part. For each sentence there are 


four choices marked A, B, C and D. Choose the ONE that best completes the sentence. 


Then mark the corresponding letter on the Answer Sheet. 


1. My father never gave me ill 
A. much advice B. many advices 

~ C. many advice D. a lot of advices 

I 2. She took him Q and led him across the road. 

A. by his hand B. by the hand 

C. with hand D. with the hand 

3. I don't think he is to blame, (J) ? 
A. do I B. is he 

C. isn't he D. does he 
4. _. fij) I know the money is safe, I shall not worry about it. 

A. Even though B. Unless 

C. As long as D. However 



The parents were worried about Dorothy because no one was aware 
had gone. 

A. where that B. of where 

__~-->.,j..<--_ 

C. where D. the place 

6. It was not until she returned home --'l(J2cp-- she realized she had almost wasted ten 
: of her valuable hours. 

A. and B. when 
C. then D. that 

7. The activities of the international marketing researcher are frequently much broader 

than_~~__. 
A. the domestic marketer has B. those of the domestic marketer 
C. the domestic marketer does D. that which has the domestic marketer 

8.W ,explorers could never have found the cave. 
A. But for the fissure had been spotted 
B. If not the fissure had been spotted 
C. Had the fissure not been spotted 
D. Had not the fissure been spotted 

9. We are not on very good /;3) with the people next door. 
A. terms B. relations 
C. will D. friendship 

10. The supply of apples exceeds the_~ this year. 
A. request B. claim 
C. requirement D. demand 

11. (j) is the influence of TV that it can make a person famous overnight. 
A. So B. This 
C. Such D. What 

12. The business is risky, but __& 'we could be rich. 
A. would we succeed B. could we succeed 
C. should we succeed D. might we succe~ 

13. If that idea was wrong, the project is bound to fail, _~_ good all the other 
ideas might be. 

A. whatever B. though 
C. whatsoever D. however 

14. It's high time we _~ a rest. 
A. have B. had 

C. are having D. should have 

15. I don't know-4i2-. 
A. why do this B. why having done this 
C. why doing this D. why we ought to do this 
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16. His honesty is ; nobody can doubt it. 
A. without question B. out of the question 
C. beside the question D. in question 

17. fiJ2 at in his way, the situation doesn't seem so desperate. 
A. Looked B. Looking 
C. Being looked D. To look 

18. The team's recent wins have now ~ them for the semi-finals. 
A. fitted B. promoted 
C. qualified D. selected 

19. The football match was televised 0 from the Workers' Stadium. 
A. alive B. life 
C. live D. lively 

20. We shall have to go on to the next village. It's too late to now. 
A. set back B. tum in 
C. set in D. tum back 

Part 3 Translation (30%) 

A. Translate the following sentences into English. (5 x 3= 15) 

i 1, (f i3:$~~ l¥J B1 ~IJ, fit rPJ 1fF~ [J, ~~ tlf Er:J fxi~L 
12, i~M:fr B~1:i~q::r+*~~o 
3, -~1-~ 'fa ~!i& B~ )ux:iZf;::f~ JIlL ! 

1 4 , lltJ&i'ciJ~--H~tlt~~ tt~*i:itr~IQ1£~L 
i 5, i3:$lUfJT~l¥JBFf~~~~~, fljJ ,i'r~, ~~c 

1 B. Translate the following passage into Chinese. (15) ! 

1 Now I have always considered university presidents to be visionary policy makers who 1 

I set the course of academic research and education rather than mere nannies (1*~) 
1 taking care of spoon-feeding babies. Those educators might say, "If the students had 
i learned to be independent before they came to college, I wouldn't need to coddle (~,L.\ 

JKU-4) and spoon-feed them so much. It is because they were not taught all these things 
in primary and secondary school that I, a university president, have to teach them 
now." 

Part 4 Writing (20%) 

Write a composition of about 120 words on the following topic: 

My Ideal Career 



